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High oil prices lead to high gas prices, which makes people drive less so they don’t have to pay a lot for gas. This leads to less demand for oil, stabilized prices, ultimately leading to more people driving again.
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Eating results in increased blood glucose levels, which triggers cells to release insulin to ultimately decrease blood glucose levels. This also works to increase blood glucose levels if they are too low, with the release of glucagon.
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In an economic recession, job loss leads to decreased spending, which harms businesses and leads to even more job loss.
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A new social media site starts up and gains a few followers. Those followers share the site with their friends, who also become followers and share the site with more friends. Eventually the site has many followers.
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An overweight person exercises during the week and sees that they lost weight at the end of the week. As the number on the scale goes down, so does their health risk, which makes it easier for them to lose even more weight and makes their health risk decrease even more.
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When pesticides are used on a farm, the insects die, but the crops and animals suffer from the chemicals, so the farmer stops using the pesticides and the crops and animals become healthy. Without pesticides, the insects begin eating the crops again so the farmer start using chemicals again, causing the crops and animals to suffer.
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Earth warms, so ice begins to melt. As the amount of highly reflective (high albedo) ice melts, the earth warms faster.
 
 
[bookmark: question_701908]Move To...This element is a more accessible alternative to drag & drop reordering. Press Enter or Space to move this question.
Question5 pts
Edit this Question Delete this Question
As air temperatures rise, more water evaporates. This leads to more cloud formation. Clouds have a high albedo (are reflective) so they reflect more sunlight away from the earth, leading to some cooling.
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At the edges of deserts, reduction in vegetative cover due to low rainfall may lead to reduced precipitation. This leads to expansion of deserts.
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As CO2 levels increase, the abundance of plants increases because they use CO2 in photosynthesis. As more plants grow, they take up more and more CO2, drawing down the levels from the atmosphere.
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As air temperatures increase, more water evaporates. Water is a greenhouse gas, so more water in the atmosphere leads to greater global warming.
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When the population of deer in an area begin to grow, they start overgrazing the vegetation that feeds them. When there is not enough vegetation to sustain the rapidly growing deer population, they will begin to die off until the vegetation grows back to normal levels and the deer will have enough food to repopulate again.
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